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1 Wed. rorntllie died. 1*;84. Nroon near Mercury, 27 IG riioit. ()!).—" Given X*

2 Tlinr. ('.ii-liuiiinivoi) ;it Montreal, 1535. Venus in Lihrii. 1 27 15 =-2x:'^-.f=182"tofindz.

8 p,.i,].,v i>MSt. Matllii'W. Venu.s South, 1.5 Eve. 27 15 Piion. 70.— li ii trans-

4 S.'itiir" (•') IH'y "f Al^ii^rs atranyled, 1817. Miton near Mars J (^ ^ 27 M verse sofi-nu'nt of the el-

SUM). -"''' ^ii"''''.'/ 'ij'lir Triiiihi. Mercury. Stationary. 27 14 lipse of l'rol)lem 50,

Moiiil. ''""is l'lii!i|ipc Ixirn. 177'-. Saturn ''J0° W. of Sun. 27 14 whose hcijilit is 2 feet,

7 Tuot-d. (iiviit Flroat Miniiuiilii, 1S25. Otl^. Moon lowest. 27 18 revolve about its base,

8 ^Vcl. Shri'iajm lorn. 17')1. .Jupiter South, 11 .Kve. 27 18 what will be tlie solidity

TImr. "»'''' l''''''l (l''li':iti'tl. I7'.i7. Mars in Scorpio. 27 12 of the body thus made?
1(1 |.'i>i,|.|y lU'iij.imin \Vcst )iorn, 17S3. Venus South, 1.11 Eve. 27 12 PiioB. 71.—If aconju-

11 SiitUV. <^'">f|va iii;;d. Ib'l'Z. Moon near Neiituiie. 27 12 prato se>;inent of the el-

12 SL'XD. -^•'''' '^itndiiii after Triin'/;/. Moon near Jupiter. 27 11 lipse of Problem 50,

1;! .Moiid. ISattleof QnL'enston.lh'12. Moon perigee. 27 11 whose hciirlit is 1 foot,

14 Tucsd. liattloofllastin^'.s, 1000. 18th. Moon eclipsed. 27 11 revolve about its base,

ir. Wed.
'

.Miirat .shot, 1815. Moon near Uranus. 27 10 what Avill be the solidity

]() Thur. KosciusUo died, 1817. Venus South, 1.10 Eve. 27 10 of the body thus pro-

17 Fi-idiiy •'^''' ''li'"'P Sydney killed, 1586. ^ Inf. i Sun. 27 duced ?

18 gjlf,,,. liatlluufLcipsic, 18115. .Moon highest. 27 PiiOB. 72.—If thcba.sc

1!> SUND. --'"' '^'"uday after Trinity. Saturn near Moon. 27 •J of a paraliola be feet,

20 Mond. 'Hatde of Navarino, 1827. .Jupiter South, 10.8 Ev. 27 8 and its heiojit or axis 8

21 Tuesd. '5"<tl>' of Trafalirar, 1805. ^ in Ascen. node. 27 8 feet, audit revolve about
')•) Wed.

'

Lord Holland died, 1840. Mjon near Regulu'?. 27 8 its axis, Avh:it will be the

2i Tlmr. liattle of Kd^'ehill, 1842. Sun enters Libra. 27 7 surface and solidity of

24 Friilfiy Kdict of Xantes revoked, 10S5. Venus South, 1.24 Eve 27
^
/ the body it will make?

25 S.itur'. (2ii) Ilo^rartb died, 1704. Mercury Stationary. 27 Prob. 78.— If n hy-

20 SUND. •l'.\ril f>i(nd(i!/ after Trinity. Saturn Station.'iry. 27 () perbola, whose height is

27

1

Mond, Sir Walter Kaleitrh teh. 1018. Moon (^ IMercury. 27 () 8 feet and base (J feet.

28: Tiiesd. Alfred the Great died, 900. .Jupiter South. ',^.88 Ev. 27 5 revolvo about its axis,

29: Wed. Morland died, 1804. Mars farthest South. 27 5 what will be the surface

30 i Thur. (2!)) liattle of Fort Krio. Venus South 1-82 Eve. 27 5 and scdidity of the body
31 Friday All hallow Kve. Moon near Rogulus. 27 4 generated ?
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ANSWERS TO THE EXAMPLES FOR 1855.

-Let 21=ff, SO=f>, and 80°=A, then the area=.],7i sin A=810.214457. Ans.

Arc:i=.\ Sxir=}i/2('Sx^'-\-x*'>'^), or C}xi'=^^/2{^x^r-LxM). Hence dividing by .c^f we get

^/2 (.c2';-|-3)=6. Squaring both sides, after transposing, we get x-^'-— .1 (54—o()^/2).

Therefore ^3.c-l.E=,](81—54/2)=2.81(J2328. Ans.

-Let 108=^2^ then sides will=Jff/G=-9,/2; n(//G=12/2 ; and ;].;/2^15,/2. Ans.

-Let 10=rt, the side=a/(2—/8)--5-17G870G4. Ans.

-Let 4140=.\fl, 202=i, 41=c. The perpendicular falling upon c=#-:-c ,• and the third

side=v/|c2-|-6^±2/(iV—
a2)J=:207,

or 205.284. Ans.

A^ote.—Mr. Sheehan has furnished a formula for this problem substantially the
same as the above.

Ex. 31. -Let25=a, 85=i, 31=c, 19=J, and ar=diagonal, then x^=l(a^-'^c^)±^/ h'hP-

(c2_a'2)i} =(37-9)2; and ^ a:2=J(37-9)2=718-205 area required. Aus.

E.K. 32—Let 20.2825=rt, and 3x-—perp. and 4.r==the base, then 5.r=hypoth., and 2.t=-diamctcr
12

of inscribed circle. Then~x=side of inscribed square. Hence .x'^X'^l^lG

—

/ 1 j; V2 (

(-"-j=ff, and x=/
I
a -=- (3.1410—144

)

49)
j

40. Hence 8>~80, 4i:=10,

6x=50. Ans.

Ex. 33.—The area enclosed by the circumferences of the two circles is intended to be under-
stood. Ans. 12115. OG, the two small segments being=7G5.5.
Can some one give us a literal formula for this?
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